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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level

Law, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

9084 June 2023 Question Paper 12

9084 June 2023 Mark Scheme 12

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — high Examiner comments

Moral  eliefs (e mlmg  welieyed by m\o&\oa«d{;]_
A8 QQJQMT_@L_WLO_CC{__MDQ._H/_\@Sﬁ Aelsave
I Yren Wg((zoméflého hov vabiv\a\) Yulee cnd
Veau,{aﬁ/\oms _ B @xomPle o & wyovalk beliel

S ok navrder S Wrong . 't shoutd e c The candidate provides two
‘ oum Shed odr q,u__”wg‘,vs__‘& @hce_Quq.Lw_’lM__‘V_%_ examples of moral belief, which
-'dMg Y  YWrder \socome  an offence [,H would be considered objective
| taw . S\MA\O!VIM L Mol % odeo  weormll moral beliefs and therefore can
: be credited with full marks.
believe £ Mo lfa_ on ntovrect aclk and h%ce_
W“ie otso A punishable ehlenm. - Total mark awarded =
' 2 out of 2
é )

Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you
to interpret the standard of
Cambridge exams so you can
help your learners to refine their
\exam technique. )

Answers are by real candidates in exam conditions.

These show you the types of answers for each level.

Discuss and analyse the answers with learners in the
classroom to improve their skills.

How the candidate could improve their answer

The candidate did not need to provide a detailed explanation of the moral beliefs. Where the command word is
‘[dentify’, a list is acceptable as it may use up valuable exam time to provide too much unnecessary detail.

This section explains how the candidate could have
improved each answer. This helps you to interpret
the standards of Cambridge exams and helps your
learners to refine their exam technique.

Common mistakes and guidance

* For questions where the command word is ‘Identify’, a list will suffice.

» For moral beliefs, candidates should consider objective common moral beliefs only and not religious or societal
norms.

» One mark is awarded per ‘belief’, so if a candidate lists This section lists common mistakes as well as
creditable. helpful guidance from the examiner. This will help
your learners to avoid these mistakes. You can
use this alongside the relevant Examiner Report to
guide your learners.
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Question 1

Example Candidate Response — high Examiner comments

Moral _odliels  Ore irgs_ welieyed by a sociely
D e vigWr ox mvor\q ard  Haece Aelsave
Yoen_yes ponside hor Crepling  Xules ard
vequiodions . Bn exomPle. o & wovalr belief

“ The candidate provides two

A2 Hhok @ wawder S wvong ¢ S"‘Dj"‘d L€ | examples of moral belief, which
puindshed ol oA oS - % %%QL{QJ;M.-E%, would be considered objective
e Yep YVWroet wecer . opn oltence ey moral beliefs and therefore can be
| o . il Mol s Mso‘ ol - credited with full marks.
. J /
bebieved o Lo on neovre ot ack ardhene Total mark awarded =
Wi oatso A punishalle thhenm. - 2 out of 2

How the candidate could improve their answer

The candidate did not need to provide a detailed explanation of the moral beliefs. Where the command word is
‘Identify’, a list is acceptable as it may use up valuable exam time to provide too much unnecessary detail.

Example Candidate Response — middle Examiner comments

9. | ﬂarxcﬂ':jc e a Honesty was credited with 1

e DUl ... ... |Mmarkoutofthe available 2 marks
Cer Codnt because to tell the truth can be

belief. The other two options the
candidate offers are too subjective
and vague.

Total mark awarded =
1 out of 2

How the candidate could improve their answer

These low tariff questions needed to remain focused on the question and the nature of morality is that the answers
need to be objective and focused on the common morality.
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Example Candidate Response — low Examiner comments
ISee exame . of o wasd el oS e G This is not credited because
e OO DL, 0 s SSaMAeae | this is not objective and rather
”~ o i | vague. Respecting elders could be

regarded as a societal norm, rather
than a moral belief.

e This is not credited because of
the lack of objectivity again. This
could be perceived as a religious
belief rather than a common moral
belief.

Total mark awarded =
0 out of 2

How the candidate could improve their answer

For these answers, candidates needed to focus on the question and provide objective moral beliefs in line with
common morality.

Common mistakes and guidance

* For questions where the command word is ‘Identify’, a list will suffice.

» For moral beliefs, candidates should consider objective common moral beliefs only and not religious or societal
norms.

» One mark was awarded per ‘belief’, so if a candidate listed more than two, the examiner took the two that are most
creditable.
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Question 2

Example Candidate Response — high

Examiner comments

| Bavrigrers ave ahype ol lawyes ov o legos |
protessionad  Hral doae with Law: The vole

' O(r a \o@‘w‘\_sh’,r S \’\Vs\f QAQ) loremesk,

@) | cdvotocy - boyrideds  eve. Wauned oo premy
cases ‘\J\t\fem} v -]u'daéi v courts Cornd

iuv\e% as  coell) . TU\!@,MOJ‘/»Q Heew o

Arghg. _ coses ot (rom e Qrosecn-
vior _or_ Me delrence. (puysrers aan algo

Orof - douwmens  9nd o duice. Heeiy thesdss

(v specls  and \n sowme  ASEes Wl”@re:
CAA

Heo Utnds & © smwp/wsu&m‘c

| H,-e_ éb?;aealg as e U

“ The candidate is awarded full
marks here as these are two roles
of a barrister. It is pleasing to see
candidates using the correct legal
terminology, such as ‘advocacy,
rather than ‘representing clients in
court’. Where the command word is
‘Identify’, succinct use of the correct
legal terminology is preferred.

Total mark awarded =
2 out of 2

How the candidate could improve their answer

This candidate wrote a detailed explanation of the roles. Where the command word is ‘Identify’, only a list is needed.
The candidate could have been briefer to have more time for higher tariff questions on the paper.
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Example Candidate Response — middle Examiner comments

) | Qostaded o odustde ¥ N (eqrerd _ endovkn

I I O T YOS e S TR ¢ S Vo YIRS S

Clone NN A N
{

e WA San e Senfendedialis

“ The candidate indicates

one role of a barrister for 1 mark
out of the available 2. Instead of
explaining this, the candidate would
have been better placed to offer a
second role.

e Maintaining confidentiality is a
quality of a good barrister, rather
than a role and so the candidate
would not have been awarded a
mark for this.

o Overall, this is quite a succinct
answer and the right length for

this type of question, therefore the
candidate has used their exam time
well.

Total mark awarded =
1 out of 2

How the candidate could improve their answer

Candidates should keep their answer focused on the question, in this case the role of barristers, rather than the

qualities of a barrister.
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Example Candidate Response — low Examiner comments

N K SN NS S \PYRSIS VY ST OO k( RENIE VN Iy N 0 This answer is repetitive with
o brel yeoding of Aok ;SQ oo Wwed] L tae the candidate talking about the

J . ' ~| | barrister ‘briefly reading’ a couple of

At 'sc..r—v-.g&-c»- T L kr,eg\ﬂ,vu«-d( W

‘‘‘‘‘‘‘ times — there is clear confusion here
Lodeseime K fase v A0 tamdhaecS {N..w(, §-€4_emu‘3 and no use of legal terminology

o bearriste~ s LN o So bl don b JP e or any convincing knowledge that
L vperadkidh verg vonm O€ _ch. | | the candidate knows the role of a
‘NPWM vAS Lo ' barrister.

Total mark awarded =
0 out of 2

How the candidate could improve their answer

There was no use of legal terminology here, such as ‘advocacy’, or ‘representing’ or ‘drafting’ so the candidate could
have improved their answer by including such legal terminology and keeping the answer focused on the specific
nature of the question.

Common mistakes and guidance

» The correct use of legal terminology is key in the low tariff questions. To help with this, candidates could produce a
glossary of terms, or their own legal dictionary to practise these terms whilst revising.

+ Low tariff questions are likely to be very narrow in their focus and candidates should be encouraged to focus their
answer on the question being posed.

10



Example Candidate Responses — Paper 1

Question 3

Example Candidate Response — high Examiner comments

The  yavhiansentis W_y_q&_q_ﬁgvomib\6%¢ _ ¢ |
madting \Awos alca  Ree  wain Lot wiodzing
wody. | {i. lacMaveny  vas 2 hMouses,
‘\’\OU\S@ ot commnmeons (#OC) and \ouUse. of
Lords CHOL) where S5 qeees ke pece
lvdme we or Aok & QC\SSLAQ- B

Mm/ Hae _\lie draldbed W\ B enlercbe
[W0C whece W vl Was W Uirskveading

T Me Rrab veadive ot He BYY, ik
Oolechves  ove  whodueed ‘Yo He |
____(;o\\la/\o\m ent _p0_ o oehake. Yles pace.|
S B\ &V\S\Aras Wedk  Heoge o Yime \or bhe |
MPc ¥ Veseaqreh ‘@O\WMM fe = ]
Vremsehves . Gdlowed »ou( Ue. Qe ve_@d«rw,»

He. L) veaghes b ‘second Yeoding @ second Reading.
Whore. Ye. ol 0ehote . Ialcos olace
s gohake  counin  Bor anerd mepnt
oy d»am& ov e LW 25 webard
‘& wecorded 1n Noansard: y voke ooy
ralken 19U\ Yo WpPc oy WYW%UM e
_lbreu_voke & wot chear -1 w\xOresare |
___Q)I\DUO\___BAﬁ W veache.S ot @&S\ﬁ(% °Committee Stage.
Wheko eachh end _Lueru O\aousP ol He
Dl e ASWsse b . BN e omidkee
thos €n Virougn__expes hse Srom e
\Pwuavv‘ay\)r '

0 First Reading.

° Report Stage.

1 3¢ _any  evmerdmonz owe Proposedithe | | @) 3rd Reading. Itis better
\OlUK \/@ﬁ()qpq \x@@@r}— Skao»\@ w\/\e/t M practice to write Third in full.
Anendmenhs  owve delombad N H‘Q, i

Morus (< @ N NV 2 o0es Lo He 31 @ _Even.though the can_dldat_e

. T @ | provides five stages to this point,
vea_dv\ & ovich = e Wned alege {7@/ they do then go on to discuss the
UO\M/\SA "\/\o Emill H’WPJ/\ cpes Y© He WOL | | remaining stages of the process

“Ontro H\e/se Q»acfcs ave_ {‘pﬁp@,@*fd \t/;/it_h some dftgi! o?htha stages,f
0. q ain @ agHM '+ Ve&t@\zﬁg\—w | being repeated in the House o

' == | Lords and finally gaining Royal
_ \OW og bt .N\/\Ad’\ Ve Maciod

Assent. Both of these stages would
\rva \o AvN \»\ne ™Moenavda_and Ve o L | also have been creditworthy in the

‘o o' wAe S A gip 6 absence of stages earlier in the
process.

\ot\

Total mark awarded =
5outof 5

11
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How the candidate could improve their answer

This candidate achieved full marks for this answer for correctly identifying the five stages a Bill must go through. The
candidate need not have provided so much detail for the answer. The command verb used in this question is ‘ldentify’,
so0 no more than a list is required. Whilst the narrative around each stage is accurate, it attracts no more marks than

merely listing five of the stages.

12
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Example Candidate Response — middle Examiner comments

o ﬂ'] . iv Q.. -»—és.,w (o H»L—[Ir (“‘ " t»’.&“” Ve «o‘\«l»?av\ r.-:(/ Q. v[ e c The candidate accurate|y
,A,,,(}m..u..._.a .ﬁ,.,,_.,_H%___H.PM_umd___ g.'.‘,fM\L.w..ﬂ.\_o.le:g.&....o.:c_,,cum.m.,..._v..a..!:‘.__Ak\-,om.e.._ov.zamw._,_ provides three of the stages of the

— LO"OLs ,'“\L SLl-aur\eL 5"‘4%11 A &Q'—ouru:lf‘tv.l/k‘—& N a tha f?ﬁ-’“ﬁ@wﬁto IegISIatlve process.
ol Me M e L hsunsion emdiaating ad o ‘“& 4@ - e First Reading.
ad e Wl Eryguaint 4. WL\QJMM . e Nl 5"«4\« A

a e wo}c B : - cowwﬁcQ shognchere gm@m\;l o Second Reading.
w-“ . MJQ .&._{‘f-uc lL,g u\t,vc. wl“ &C *Ldnfoa Fe%L‘ oTh didate i tel
e candidate inaccurately
,,.,,,ﬁ_b\,}\w . J}LL }awrl/.m “ V‘o‘l‘ﬂ ‘Tl\m/\ ‘l"ru& !9 l WJ” b(,_w Writes Community Stage as

o Sk b other Lacye el s it atpass e L?f’ﬁz{i opposed to the correct term

I £ P U R YE S S T ‘Huu . Ao tasdd. sign- “l e e Committee Stage.

i\ come o v @ ) 6 Royal Assent.

e Some definitions are
inaccurate, but due to the command
word in the question, a list of
accurate stages is sufficient for the
marks awarded.

Total mark awarded =
3outof5

How the candidate could improve their answer

This is generally a good answer with some good use of legal terminology, though there are some inaccuracies which
prevented higher marks. Where the command word is ‘Identify’, a list is sufficient as long as the correct terminology is
used.

13
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Example Candidate Response —

low

MA--\AU)\’“\\'\SC\ ﬂ (/\"(:Lﬁ

Examiner comments

a ‘First stage’ and ‘Second
stage’ are inaccurate. The correct
terminology is ‘First Reading’ and
‘Second Reading’. Due to the
narrow focus of the question and
the need to ‘Identify’ the stages of
the legislative process, incorrect
use of terminology cannot be
credited.

e Identification of the ‘Committee
Stage’ is credited with 1 mark.

o It is not good practice to use
acronyms, especially in this type
of question where the term has
not been written in full at its first
occurrence. There is also no context
around what the candidate means
by this. The stage the candidate is
referring to is that the Bill would go
through a similar procedure in the
House of Lords if the Bill started in
the House of Commons, but this is
not made clear by the candidate.

Total mark awarded =
1outof 5

How the candidate could improve their answer

It is imperative that candidates use the correct terminology and provide knowledge of the legislative process
accurately, and preferably in the correct order. Although there was a correct use of ‘Committee Stage’, this was the
only stage correctly identified by the candidate.

Common mistakes and guidance

* Many candidates used incorrect legal terminology, for example, referring to ‘Second stage’, instead of ‘Second
Reading’. This will affect marks significantly, as there was 1 mark available for each stage.

« This question only attracted 5 marks, yet candidates wrote quite extensively about the legislative process. Whilst in
most cases, this was done accurately, it is not a good use of examination time which would be better spent on the

higher tariff questions in Section B.

14
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Question 4

Example Candidate Response — high Examiner comments

Tere .Ove = , CpssMaions  (or_criwined

o

oWonces .

e S one \M,w\g] Samaar] S
‘GWWS wrnero e, oRenced AL usvalli,

Cona\Oehecd  sannD( G Q) Mgy senyrences \

M@ OS50 ReA_ AN ez offences

wGn_be_ ied w Vo, nogickerabe courh

o«r\é - eé O(F A P) <xm\\/\ﬁ\@€ \ﬂ%ﬂe 9

COnvmo N mesphaly  ard S{I\DD\A%V\O(\’@'C/
heo t Mnder  $-000 rounds W edeo

C«@V\s’ﬁ@(eﬁ o 3UYYWV\Q,VL\( oW@ngg.

1N \nable.  elrex

_%;_QWTQ@_Q& ‘S andleonce

Man coun e Yo de e suvviea VU oy

NMee ndickowste sde va\@s‘r serous): these!

Nences  _are Jdealk roaqEeode couwds |
SN0 comnCMMEeS wowf\ oVt g5 vl

é‘&&?ﬂ\d/t/@ woor e tacke whichdestyh

WG vodre O e Mot 1S cu Wrivoble
exfer oy o ftend w\f\q,\(e/‘f?\z}?f \ess
| Yon =200 n'ze_ corsidered

| ey e oS Weﬁ\/@@ F\els w

S 800,060 w0 Voo w/v\sﬁ@‘edmo)l&eb

ﬁu

Y more é@v‘\OMQ o ® Yo Qanclion .

éép@/@g e \\(S nodwre

\,ors\/fM&\vxo"\d‘ﬂUée "Wﬁﬂc@f ove dbences

od- ' owe WO SENOUS i veluye

b 2

ﬂ_mméw oy ape.. Ve ce oifences

WA Wi hed QU nMS\\M@V\‘Z Oor ea \\PE’

serrences a0 ave  duwpds Dokt

A e OOWIN_ CO WYY W WLO«)QLA,‘/Q/‘Q,

Kyval ymeawnsS  done v PLQ(YVOQAs\mﬂ/@

Cowrt -

This example attracts full
marks for talking about the three
categories of criminal offence
with some detail for up to 2 marks
per classification of offence. This
answer is well structured and well
written.

Summary offences are
identified (1 mark) with some
narrative about the court in which
they are tried as well as some
examples (1 mark).

e Triable either way offences are
correctly identified (1 mark) with
some commentary about the courts
in which they are tried and some
examples (1 mark).

Indictable offences are
identified (1 mark) as the most
serious and again an explanation is
offered in relation to examples and
courts (1 mark).

Total mark awarded =

6 out of 6

How the candidate could improve their answer

The candidate could have provided a little more detail in terms of how the decision about which court a triable either
way offence case is made — that it is the defendant who chooses. However, in this case, the full marks were awarded
because the candidate provided enough narrative in terms of examples for the additional 1 mark that the explanation

attracted.

15
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Example Candidate Response — middle Examiner comments

_______ Jhere e (hree. clorzgpeestions & ... cranre
...... Sponcet.. The pist . e i o reott
fleatt serioe aprend.... .
N The . secord u a Ceribuy )
ardt L8t ww@ﬂ\& Lt srsent
N b e el Ferivng __psprerce e
_ ' Q... ted. T _te  KLeld

PR S

a The candidate does not
explicitly identify ‘Summary offence’
and instead refers to them as the
‘least serious’. This would not be
credited. However, the explanation
that came with it would be given 1
mark.

e Triable either way offences
are also not identified, so no mark
is awarded for that. However, the
candidate provides the relevant
commentary that these cases can
be heard in either the Magistrates’
or Crown Courts.

0 Credit is given here for the
implication that the ‘most serious’
offences are heard in the Crown
Court but again no citation of
‘indictable offences’, as the question
requires.

Total mark awarded =
3 outof 6

How the candidate could improve their answer

This candidate could have gained an extra 3 marks taking their total to the full 6 marks, had they identified the three

classifications of offence and used legal terminology correctly.

16




Example Candidate Response — low

Example Candidate Responses — Paper 1

Examiner comments

a This is clearly a very brief
answer, so the 1 mark was given for
reference to ‘triable either way’, and
even though this was slightly in the
wrong order, the benefit of the doubt
was given in order to positively
credit the candidate.

Reference to ‘punishable offence’ is
not credited as it is not clear what
the candidate means here.

Total mark awarded =
1 out of 6

How the candidate could improve their answer

The suggested structure for this question was to identify the three classifications of criminal offence and offer some
explanation or narrative about each category. The explanation required was not explicit, so it could have ranged from
examples of the types of offences in each category, the courts involved with each category and even the level of
seriousness, but these were missing from this answer.

Common mistakes and guidance

As with other low tariff questions, there was a lack of the use of key legal terminology, such as ‘summary’, ‘triable

either way’ and ‘indictable’.

There was also some confusion between the Crown Court and the County Court. Candidates should be reminded

that the Crown Court is a criminal court, and the County Court is a civil court.

Candidates need to be reminded of the time allocation with this question — it is worth only 6 marks, so the length of
the answer should reflect that and pages of writing are not necessary to access the full range of marks so long as

the candidate writes succinctly and uses the correct terminology.

17




Example Candidate Responses — Paper 1

Question 5

Example Candidate Response — high Examiner comments

9 (&60 Pﬂ o Se®y e, Beer oS . . .
Nel e, LR e T ol “ This candidate focuses their
’ I we s e i Yudheld | gnswer solely on the disadvantages

W@Cg/ E(d/ L?\‘%é\ O €M O of both juries and magistrates rather
e TheR haa o LO\CA than considering laypeople as a
Xa{o\dga\e, o AL cocconnel Saaud 1O whole entity, which is the correct

_ } . way to approach this question.
WA, £ ane/ B ) el W \U\M\Cé- HoueiRy, yloapp a

| $acr {\7\@\ are qw’\Q‘*b(/\NCV\CCO\ \WEAE  ucuy
Y okmdoeg}@go __O(\(;:__é@_@/“/ o Pars s

i VV‘O\@»SHOJ@ NV’ Hwnﬁd e m\ﬂ\v\gwdé
‘ﬁﬁ\/ O s\rP,uu 1()0\((/\ W&'_ WL ﬁ( \

: ok wg V\(\%&WQ pe,mp Q e This is an excellent example of
%o R m'%l%C\ WG oo 5&%/\ O = how the AO2 and AO3 marks work
0 v .y ,_‘ e because the candidate provides

- 4?\”"3\“0“"‘”‘ ‘N Y . Aﬁ%& a disadvantage of magistrates —
- ' ' ‘pro prosecution’ (AO3) and then
Aéid)‘*\'w, , due . . Thel ack o supports it with a relevant case for
£ s, | \ A% 1Oy P@A&’Bﬂ‘(\@» the AG2 marks.
‘ { o . & EJA.
W odand o) on '\’C?( B o
L ey o eRed rentad  auoduk e

o ueen Wt Wn LV gondd o |
E e A __“ L. e 5 The candidate then does
,\, MM ;ﬂ/\ T o= v\)’\'\/\i Q. the same, but this time with a
o (\\M VAN CE e N Ow(\D\f\ \Jaf disadvantage of juries, again
O\Q’WU,\ f'l AN o4 x}b/ml\‘\'u ound with the use of a relevant case to
\Q the o e Q— Q“ N) u‘\PW\lp e, support the point being made.

J}( W\ﬁ UM AN 5@\“](0\- %écwa) 4 3

L o UV\(E Q)D?{— = A N\M: vat
US4 S
wo@g\ghm wal  iRe veeas Seut A aduae?
LTS o MR V=) osfer = lowy o

LN ‘Swﬁi‘ Hovercy . vl d@@v{{‘\"
dlred e faf o re  woddstode wie]
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

in ol  Gre 5 ader o8¢ o d e oTh' . lid point. but th
9 vy N is is a valid point, but the
oSy 'rd?(m} 0 oA M . We’ o mo"M”J‘?f“ candidate could have supported
f\& MR 3Ud*t‘cu*3 e Fe g‘f\;\m this with some diversity statistics of
; magistrates. The candidate does,

feidtfen.  Byen  Wiugh Mg e adeoted Mot however, use cases to support the
e v s &/\Mﬁd o \/heu@ ngr point about representation of juries.
s W
W wok 9 rc?ﬁwculabm ot yadal, |
gon 10 e Y wne. X &y Frarea l"‘\(gq 3‘/"‘3

£ Vv A9 FER YA )fmdwkg 4 WS(OWAG-E\),Q
o "M\')C,Q,
y (b O\d\é\ n\/\ ) HF%, \J'l\/'\/ AN W/‘VOU - (‘!)AI\—;"‘%'e

e \\w\,\ colddne MO0
E R pace 3 Avoe i @Joé; W GJurytampering and the

et M( 51! «H&@u\ Ve ot oush 2 impact of this is another relevant
fe, _ ¢ . disadvantage of juries which the
i hie ore ooy’ _q ling.felantien ! | candidate explains — that is, it
W‘S pacer  ta e ot _wiio can lead to unfair verdicts. This
Qo (end o NS Y VARSIV T 5\-’,\7 a2 development is sufficient to award
MO L B POt - the AO2 marks.
N N

foon _pough ey o0 reash o el
L hae  boes powr =3 e sl b
Yoo b b})( O\/\A o J con Leaﬁ u__ QA
unbidieee) Wik S an sakzwe  dwihde
}')Clk’ﬂ)\ it A8es v’\'\—3 QS\&OU-M. LhE. fad— \rof
— 3y m/d
Rty puoonel  ove Vesraniceh
‘ AN J hove.. e bnow[),ww_é o \!pe \OUMW)
=0 :
l@l&w\o v el derumGias o) uhat
i\neu ploE. Qb Wt or SR but
nof e tegak  odew o op T Total mark awarded =
NV 10 out of 10

Mark for AO2 = 6 out of 6
Mark for AO3 = 4 out of 4

How the candidate could improve their answer

This was an excellent answer which clearly showed reasoned analysis, effective use of relevant examples and clearly
focused evaluation which means this answer hits the criteria for the top bands for both assessment objectives. The
inclusion of relevant case law showed a clear understanding of the topic, though there was a missed opportunity for
the inclusion of some diversity statistics.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
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Y. - \soﬁxﬁ_@&v\k o ora NPT pRoPMR PESTCRYS VEN ST e
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Ma\,\#A(‘qv\o&\‘\o}\\({—wu\‘\'Y‘z\\w\&ccwv\Q\\@»beoQ*\Q\%s.
|srconcha oo LonneleR. o alenuso) Fleanens ea,ance. -
[ AR g el geanss vse ol Teeniys ooosad o
— Qon
ol Ve AR o, . T \UTDES SR 2o el oocetg

e \.ag'ﬁ\-,\’(\«g_c_mu\di‘\m&e&&\nd\sﬁw\\‘

SN whendale oL e Bleo e Bbsok

0 The candidate correctly
identifies that magistrates and juries
are not legally qualified, which is

a disadvantage and there is some
development on the impact of this
which is a good approach to take.

e The candidate refers to “they”
here — it is not clear whether this
refers to juries or magistrates and
so the candidate hasn’t convincingly
shown a clear understanding of the
difference between them. There

is also a missed opportunity for
case law here which would have
illustrated the point well.

o Here, the candidate refers to
the case R v Young, but they do

not directly cite it. This means that
there is no citation of legal authority
at all throughout the whole answer
— this will significantly affect the
candidate’s AO2 marks. Therefore,
this answer only achieves half of the
marks available for AO2.

From here, the candidate
provides three conclusive
disadvantages which are all correct
and can be credited as AO3.
Without development or supporting
legal authority, they would not gain
the corresponding AO2 marks.

Mark for AO2 = 3 out of 6
Mark for AO3 = 3 out of 4

Total mark awarded =
6 out of 10

How the candidate could improve their answer

Rather than discussing juries and magistrates together, candidates who accessed the higher bands were more
likely to have discussed juries and magistrates separately with their distinct disadvantages.

This answer was rather generic in nature and also lacked supporting legal authority or further development for the
top of the band for AO2.
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Example Candidate Response —
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Example Candidate Responses — Paper 1

Examiner comments

o The candidate provides a
disadvantage (bias) but does not
support this with any development
or legal authority or any indication
as to the impact this may have on
the criminal justice system.

o This paragraph is almost
totally inaccurate, as the point of
laypeople is that they have no legal
knowledge.

o The candidate seems confused
here as competition is not seen as a
disadvantage of laypeople — in fact
quite the opposite — jury service is
seen as a civic obligation.

Mark for AO2 = 1 out of 5
Mark for AO3 = 2 out of 5

Total mark awarded =
2 out of 10

21




Example Candidate Responses — Paper 1

How the candidate could improve their answer

There is very little focus on the question overall here and the candidate produced a wholly inaccurate answer with no
legal authority or development of the one accurate disadvantage that has been provided. The point about bias was
repeated and showed that the candidate had very little knowledge about juries or magistrates.

Common mistakes and guidance

+ The best answers to this question provided a balanced answer where both magistrates and juries were considered
equally. This shows that the candidate has considered the question and attempted to focus their response on
answering the question.

* In questions such as this, legal authority is of vital importance. Remember legal authority can take many forms:
most commonly cases and statutes, but also statistics, newspaper reports, academic opinion or generic examples.

» Alist of disadvantages is unlikely to attract high AO2 marks if they are not supported with development or legal
authority.

+ Some answers considered only juries or magistrates and although at times, this was done very well, without
addressing the full demands of the question, were unlikely to achieve full marks.
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Example Candidate Responses — Paper 1

Question 6

Example Candidate Response — high Examiner comments
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“ The candidate provides a
good introduction here which puts
the Court of Appeal into context in
terms of its place in the hierarchy.
Doing this helps focus the answer
on the question and helps the
candidate to avoid wandering into
irrelevant content.

e The inclusion of Young v Bristol
Aeroplane Co here immediately
focuses on the question.

These are the exceptions
in Young which are stated and
explained in relevant detail.

o The candidate further explores
the per incurium exception with
some excellent use of legal
authority in the form of two cases to
support its use.
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

e mm\ _Coud M Contiiee O \GL relo

“°\‘ ‘ro-\bo vho %Qw\:«\‘r: as ™ N Qo\sJZ/
N sl Srele of \uirexesse. Praons BT
)ooe e O\)O\k‘ N> e C Poadeend) M\D\& V\oeﬂ
‘Vﬁ}:m—- Wk\’ chm \\’\ btem%d\ Qe

e AN N o \\~<.. N © | e Further credit is given here for
\Cﬂr W Sy % Spdorta 8 W "I | knowledge that the Court of Appeal

oy, \em \auma. \rlw‘} Rta ?\“‘Qc\ L1 | has an additional exception for
<D & ¢ e S NSNS %\Ou\& -| | criminal cases where the law has
. been misapplied or misunderstood.

e The candidate discusses the

O Human Rights considerations that

3 ’um({ C\"‘M ,_Sr \&DM \;@»f 1 | the Court of Appeal has to take into

TR A MKW\‘ AuReer WV %Né. account, and specifically implies
WC/‘( Celon QL\LQQ«% - oo | | the power to issue a declaration

Lo\ S \/\Mm N . \\r NQ_&M | | of incompatibility. This is a

sophisticated point and shows an
v e o R M\L"‘ Qg ey W excellent, focused knowledge of the
- &orN ok el %Q&»&QA \“’-’ v\ \V\‘v | | Court of Appeal.

o) W SolRENEYY

e The candidate then concludes
with some explanation of ‘other’
avoidance techniques with

some accurate definitions and
supporting cases when discussing
distinguishing.
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

\Q\QU\ Q,o\hl\ NS (‘W QO\\),) N\ > \:M%'\V:\—E
Lo ere o e wmh@ e e Rsede
1\ an e?«m wemoa\ T VRO WA St |
[ ohN\e Cate oxe Seguumded S oy xwuwws
Cove 2 veold  sWemde, Siren o \avad
X \\/\? vony, Aove T \ve Q&\&Q}Q“
e%mcww N Y;O\Q\B\N o Wi Vo NMorde wwuae | e Overall, an excellent answer
[ S s i G A2 el S| | P s ks ntre Cour
LY S %"‘\Q"N" e, X‘(\\Qx\\- \‘\’--M U—‘*S V\d‘ - gohgfent structl?re and suppor?ing,
Y et T ot Y wes etYoled| | legal authority.
M \b \\,\b cgu;’\mu_ QS;Q WOV codyredk . | | Mark for (a) = 10 out of 10

\l\\ \\M ,Q ‘Z—\I %\WS@(\ - 0\ \\ OQ i Mark for AO1 = 10 out of 10
. % \);,LK-; c»l«smk_é o v . A0 G T DQ O
ok &) .S o DA wes \oe),
..‘_,,..Qw@.ovxs o8 & Srrodey \mmy\\aa\\k— wes
s d N Mases Wt Wi oad
Lot W o o d SaQaot bows dom N
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

) | Ve Bea ot C—d\g\S\@WB
N TN\~ Sé\xb\& vﬁ,._, X¥ees ‘row CJ&O\(V\,?\«, NN
IL.Ne Come X Al

\\Nm%, \v\m\AW,& \\o\d\&\,\h@ '

| T v ok %?\M oot m \o
Sseoen A ety of B Supre

e m‘“ S sead { A S 0 Lord Denning is an excellent
L\ AW o J‘Q W\\O\‘ﬁ?sjg \J Q«@@«X \“'\'6\\/\ place to start this evaluation — his
DoA™= otcex e S Fvaes AR, A | attempts to allow the Court of
Appeal to depart from decisions
of the Supreme Court is a key
aspect. This candidate explains that
argument, with some supporting
cases which immediately focuses
the answer.

@\“\\,\J Cp,y, ol %5 Ky AD\'\’(\&}(\ QQRC\ Cm @ The candidate then discusses

Davis v Johnson which is a key
’\(\"\\D( A \\I\(_,
|LNRe 0o o8 \Ve RS T case where Lord Denning refused

T e - S to follow a decision of the Supreme
e \C.‘\}ft, - Q’ W Cob AR R O"U"“U\Q .| | Court. Crucially, the candidate then
L0 S BesnTn Moo \\/{g was 8\1\ develops this by explaining the

R impact of this case and the rules

of Young are to be followed by the

o 7\\\&’ '\\mc\ \\%\D\ T RS :\W \Q Qﬁw Court of Appeal without exception.
oM C'D‘% B - This is excellent context for the

candidate’s evaluation.
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments
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0 The candidate writes about
reasons why the Court of Appeal
should be able to depart from the
Supreme Court’s decisions. For
those supporting AO2 marks, this
is done well by the candidate as
they explain the reason and then
develop it further by talking about
the impact.

@ The candidate uses excellent
connectives here to show how
they are developing their point, so
uses words and phrases such as
‘This is because....’, ‘If....then...’,
‘Moreover... .

@ The candidate starts their
next evaluative point using a new
paragraph which is good practice.

@ The candidate then talks about
why the Court of Appeal should not
be able to depart from the Supreme
Court’s decisions.
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

| ey and R W Contan. Sepone S
e sa» ol e X \\T-w We, ¢ WAN Ve \orgn

\\m xxug_d\ S \’w”ﬂ cou&v‘m e%\a\— \N\ Y‘Q‘(‘Qb\uuq&

e Credit is given here for a
\ o\ N\ &i\b( G C oy @
@ \\- R (‘ Q&"’ o \Ve' g further evaluation point (AO3) and a

IS 3 ;‘é\w\)m‘“ ?Q—QX e o \eas g“{bﬁ&] development point on the impact of

e \W \ea oD ,,,,,,___,:gwms ove N e T | this (AO2).

] Sored o S thed o od TR DG
(Ao W oo o \Vese M@r\\ o gA\&“rww

N *t&«gur WSO Y M ree o

S %\‘&\L_‘)’\r (/N\Q\)sw A% U&‘LG\\—QQ Q

@ The candidate provides a
concluding paragraph which can
be credited as a further evaluation
point. Candidates should be
advised that this is fine as a
concluding paragraph and as a rule,
it is advisable for conclusions to
add more value to the answer than
simply be a repetition of what has
already been said.

Mark for (b) = 14 out of 15

Mark for AO2 =7 out of 8
Mark for AO3 =7 out of 7

Total mark awarded =
24 out of 25

How the candidate could improve their answer

¢ Overall, this is an excellent answer. Full marks would have been awarded if there had been cases to support some
of the avoidance techniques, such as overruling and reversing.

¢ (a) The answer clearly showed a thorough knowledge and understanding of the Court of Appeal and the role it
played in precedent. It is good practice to immediately focus the answer and using the wording of the question in
these introductory statements can help this.

¢ (b) The answer showed a ‘mostly focused and reasoned evaluation’ and there was very little, if any, evidence of the
candidate wandering into irrelevant or unnecessary content. The answer remained focused and was well written in
a logical and coherent way with good use of connectives, which showed the examiner the thought process in terms
of a balanced and supported evaluation of the question posed.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
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c This answer starts well with

a mention of Young v Bristol
Aeroplane and a list of avoidance
techniques and so it is expected
that they will then go on to discuss
these in more detail.

o This is a good explanation of
distinguishing which is relevant with
some good supporting case law.

o This is good explanation of
reversing and some appropriate
case law support.

o This is not really an accurate
definition of overruling.

e These are the Young
exceptions, but they offer no
explanation.

0 There is implication here that
the candidate knows the additional
exception in the Criminal Division,
though this is not explained in any
detail.

Overall, part (a) of this answer had
good potential to get into Band 4,
but there was a lack of detail which
suggested the answer was ‘mostly
accurate but may not be detailed
in relevant areas’, so was placed in
Band 3.

Mark for (a) = 7 out of 10

Mark for AO1 =7 out of 10
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments
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e ator vey , snd iy e M& lavy los pecesstile an pofle “’”MM“/H‘ where the candidate talks about
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Wl%% b vedue lmﬁu« Pwmw%- ond pwc&ﬁms g/ loflon s would be credited AO3 here, but the
zJa/ga Bde gt ;4 a} — qﬁm 40 & }MIM M 2/%{7 answer lacks AO2 development or
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o ey flss me/ ‘\M; et o Z, Mief p ﬂw is inaccurate, with little focus on the
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B MA wakets Yt e la@t wd s guen Craotor et e B ot versmvess |
Jopdt a@w/u’ﬂj wid .
1 O e efiar !W»i,wt Ao . (/f\m a/mwl—&, /LLFM W ”/Z‘* “— ’f”‘-" "“"""
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| Tasd 4t \(w,, o Bl evplace L. &43 T ollovs peove ‘,mml/ be adhie
pid aviids dotiions Ao J rHAm 8 vith A
Ll WW} s oo cantied on. ﬁ a.h'gth(j $C rom {;wbﬁ e Reference to the law being

7. VRN 22l DT et B B slow to change is credited as
i W/t L{wﬁm 75“‘2 Lok WALH tﬁ wear¥) caess W’t h""@/“’a‘ t renchte another AO3 point and here there is

4(/ for dwra.m lie o limitatone & [1@“/{5 sor- e Bt 0d ocmamaﬂ wsf some AO2 development.

flet bt B b poned oy e oo OB s ook lons ot
g o P it/ ffw}m uet allowed o do so_hecsusp, A Hu prww,
| e for A mmdm-zfedu i Tneuibbned ot +L<dréw'( % o This paragraph s a little
,,,,, 0 A““""‘“)fﬂ“’m\ 4 *‘(""\'( S b SL pon solve s s, W!ﬁ wl'o.r repetitive and does not really add
) imfa(,w 4 Lo, Gotton, and gode wore phlic Yelenst m’ﬁu, %A/Hgﬁm any additional creditworthiness to
{wtane e, pave, dpsdnsias ‘”“’Js /\% %,;m} to vesidt Hoy ithees . the answer.

] 1”’ L"V‘CLW’DiM \cvﬂawl 5& tieasw/l IMW (omsistobey W\’U\/Mﬁj awl ;mﬁ%
_,_th/ (o{w it o [esd o Soceva/l side. a&\cerf{ %ﬂ:ﬁd e (0f\ Apuk. he,
MMJ Ar_degoxt dpm SC_gete, ditmed wg develpraiet 4 fov sd

o |aggestine A A ke 7 basis ave. e(wdopﬂﬁ‘wlg ‘U‘”A“’(T bt
| needs A M & S ) @ overall, this candidate has
been awarded more for AO3
because there was evidence
of ‘some evaluation’ which was
‘reasoned at times’, but the AO2
analysis was ‘supported by some
partially developed use of legal
concepts’.
Mark for (b) = 8 out of 15

Mark for AO2 = 3 out of 8
Mark for AO3 = 5 out of 7

Total mark awarded =
15 out of 25
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How the candidate could improve their answer

(a) Although reversing, distinguishing and overruling were relevant avoidance techniques that could have been
used by the Court of Appeal, the focus of this question should have been on the exceptions in Young v Bristol
Aeroplane and the additional exception afforded to the Criminal Division of the Court of Appeal. Candidates are
unlikely to achieve higher than a Band 3 without mention of specific Court of Appeal powers to depart from their
decisions.

(b) There needed to be a wider range of evaluation points supported with relevant authority or argument. This
could have been in the form of cases, or some development of the principles or impact of the point being made.
There was also very little balance in the answer with the candidate not making clear balanced reasons why the
Court of Appeal should have been able to depart from the House of Lords decisions and reasons why they should
not; the focus of the answer was solely on why the Court of Appeal should not be able to depart from the House of
Lords decisions.
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Example Candidate Response — low Examiner comments

leay | 7he Gt
ale  count . LE. 0

T “ """" Fe g e SO c This shows the candidate puts
gﬂcyﬁoﬁ the Court of Appeal into the context

of the court hierarchy.

.............. . LeCim.... Tho

(ousrt @ Pppeal from. .. ué’mo&% . precadlea?.
B I /77 S, - ) the Flumar . Raght . Ak (9. .
o T Humon . #ﬂ?u/; Ak 1996 _waad e Credit is given here for

b8P pOrtimtet bt adlowset reference to how the Human Rights
“ e ¥ s & Act can affect the ability of the Court

of Appeal to have to be bound by
their own decisions. The candidate
could have improved this by citing
some case support or relevant
P e g | sections of the Human Rights Act

o 7—& . Lot & Agpeak Y oty 1998.
Ot rguidhe.— e T e Lurthey. ..
cawe” __an . e DL D
Nlhe . Bty tecdnt-" The locnt P .
//ﬁ/ﬁew{ Q’Q/M@QL_,//prr»__?‘f‘*ﬂ_ W2
02t Pre.cdlind. o e cade. ap
/—1‘0/7 inTha _the 0 There is passing reference
| decision —was_trouwn  cu_per inestiom . Cin_er). | 10 Young v Bristol Aeroplane here
7 " | and per incurium but there is no
reference to the other exceptions or

any explanation.
Mark for (a) = 4 out of 10

Mark for AO1 =4 out of 10
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Example Candidate Responses — Paper 1

Examiner comments

o This first paragraph repeats
what was discussed in part (a) in
terms of the powers of the Court of
Appeal to be able to depart from the
Supreme Court.
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Example Candidate Response —

low, continued

Examiner comments

l.rte Ogﬂ'ié'g.d =2 per.. Sreiom Dt hilh.. ... 0.
|l lrrOr A enacPle. . &f.. .. Lkt -
] be, \'/OM v 8/\44 ol ﬁ@ral/)/a,np (ory Q% Lf'ol -
. m%o»? g{ /wcea’ﬁ/»l; 8P 7%)
/01/ M. Ghee  _ _olrty A reme
e second paragraph once
e e ijwd ey, the ,wl . W W ~-=—=- | again mentions the availability of
o - 0!20(/] WW U S Young as an avoidance technique
o | butthere are no points of evaluation
7 et showlo/ or application here — this is
| Oble d"/a"”é /m"" - 9(“‘4”"’ e S precedent and the Court of Appeal
S SWW Lowé S 1= Y Y #____ | in general and as there are no AO1
/m...............&mcf/e y e p(m/w»v N 2272 S -7 Y marks ava”abk? in part (b), this
o4 IDQ/ (/"W/anv ( M" e Crrors _)o DW d@ffﬂ CannOt be Credlted.
| sbouldl 8 be oble G 04;.0 art /?ofw with reasons why, then there may
ke L supreme et dtciSions &) u‘ be scope for higher AO2 marks.
VY e _l\ﬂw oLt s ///emfc/g Mark for (b) = 4 out of 15
B LOCrT e e | Mark for AO2 = 2 out of 8
Mark for AO3 = 2 out of 7
Total mark awarded =
8 out of 25

How the candidate could improve their answer

¢ (a) The candidate needed to explain all three exceptions from the Young v Bristol Aeroplane case as well as some
reference to other avoidance techniques that could be relevant, such as distinguishing, reversing and overruling.
Overall credit was given for some passing reference to the key case of Young and some brief mention of the
impact of the Human Rights Act, so was deemed to have ‘some accuracy but lacks detail’.

* (b) Repeating what has already been said in part (a) cannot be credited again and the candidate needed to provide
balanced reasons here as to why the Court of Appeal should and should not be able to depart from decisions of
the House of Lords. Overall, this was deemed to be a ‘limited’ answer with limited use of legal concepts and limited

relevant evaluation.

Common mistakes and guidance

¢ (a) Some candidates approached this question as an appeals question which was irrelevant. Those who did focus
on precedent often missed the focus of the Court of Appeal and provided a general answer on the mechanics of
precedent with no mention of the specific powers of the Court of Appeal. There were also inaccuracies in relation to
the Court of Appeal being able to use the Practice Statement, which is not the case.

¢ (b) The focus of this question needed to be on the Court of Appeal and a general answer discussing the
advantages and disadvantages of precedent would not have scored very highly. Answers needed to be focused
and specific. Moreover, the part (b) answers should not be a repeat of part (a) and should instead focus on the
skills of analysis and application. Another common misconception about this answer was that it was in fact a
question on appeals, so candidates need to take care to read the question carefully and focus on the key terms.
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Question 7

Example Candidate Response — high Examiner comments
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a This is a strong start as the
candidate immediately identifies
the Police and Criminal Evidence
Act 1984 Code C as the relevant
Act and Code of Practice with the
correct year and written in full.
Identifying this in the introductory
statements focuses the answer.

e The right to inform someone
is the first right of the suspect to
be discussed and this is done with
the correct supporting section of
the Act. The right is also explained
with some supporting detail,
including reasons why the right
may be withheld, rather than just
being listed, which shows a good
knowledge and understanding of a
suspect’s rights.

35




Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

o Oi mciv\d'% on o\oulk Q:ex\buv ,OQQQN\@-& !
R N W voud \e ol e

""""""" - s e 0 The candidate explains the
0 .Dako\\\\o&é \\r’\'cﬁf\c@'& o \mm=mR At right to legal advice and supports
wedon = S a? \\/t AN AN TS e \’“&M this with the relevant section of the

Police and Criminal Evidence Act
1984. There is also a supporting
case provided as an example of
where this right was delayed and
the impact this had on the case.

WO\\\_M&— e ,Vv \ta S\ ovex . \\/‘c_ Yo\\o\g‘m\:@
¢ oo ddesmed Ssv vRve. 26 Wewns
o\\qx\/\, N3 LD\\\)\\-O\ \(\\&X\z.x*amx =
) Q*‘{Q!x,\‘t) NESI\ 3\&9\/@ e, T ed  Veswnt
| Soc w2 e e, TS C oo O Gmvwecre_|
N Capnel, o0 29 u,m)« DA eas e C
NS \"Y\Qw‘(\f\—e_b of \\/\p C\\N‘LST Nooe W W

° The next right concerns the
environment in which the suspect
needs to be kept, including the
cell conditions and the right to
refreshments.

6 The right to an appropriate
adult is considered, again with a
suitable case.

0 The candidate concludes with
a short explanation as to what the
impact of the police not giving these
rights will be.

Overall, this answer is a good

K’W Qe \\"*ﬂ‘%“ \\“U“ "0\“‘3\ \)W\W\M example of quality over quantity
\NW RS Nadoa Seiwal e e because there have only been
four rights considered but because
g"(g 052 P )DY,WQW“ \ﬂ-—\ reoy | | these have been explained well

with some detail and legal authority,
it convinces the examiner that

SN0 R LEmaR ‘“3 %D“”v O\Q’:’“Q--- there is ‘thorough knowledge and

\WC&M{Q@ o AVED W NS \@,oamb%c&iﬂ understanding’ for Band 4.
o e , | | Mark for (a) = 9 out of 10

Mark for AO1 =9 out of 10
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Example Candidate Response — high, continued Examiner comments

0 The candidate provides

an excellent introduction which
immediately explains about the
balance necessary for these rights —
these useful introductory statements
put the answer into context and
focuses the answer for the ensuing
paragraphs.

e The candidate immediately
cites Section 76 which is a key
section that protects the suspect
from oppression as it makes any
evidence obtained in this way
inadmissible in court. This is an
excellent approach to take and

0 Ne Y\d\\l\\’\ R We Szstre are oDO Q\\N\%‘}‘KA‘ shows good AO3 evaluation with

some AO2 development.
| Seees, Qo oo KHT M \/YM N~ | P
”“Q\'\/\K‘ \'D\’qu& AT AT \\A«/\ A C_O\dg\b‘\% e Repeating the wording from

fﬁ PRI

S oG s S Ny Ve VR V|| (e question in the answeris
@ e fee ). Ana SE N 2 W\\oc\ aos‘w\S\\\f\\ . excellenft practlé:e aj it keeps I:et
o i B e || I
\\"x“ \O"\ g Y\\ ot D=de ) o WRCo=nn particular right does or does not
Jeole . €N @&)L\U) . protect the suspect.

This is another evaluation point
O\N‘G@\( 0. IR0 ww{iww,_\'\/‘ that is made by stating the right and
! %S\m&ﬁ&\mﬂ & Wb?”“&\\p\h MWeeat .| | then using connective language to

NN\ ox\rcwr& Ss_Dreinra i explain how that right protects the
< ~ suspect.

\“Q(\ . 0%70\\ Ny \nc@;\k N \\\o'u(\\x ol
& Uﬁ% \r\? W‘OO(.U\Y— Gagpeaks D \\_J_‘&

,,,‘_0\\_\.0 oo NG m AN re SRR - Ove. OV

W W M \e. um\c&\H m The candidate starts to talk
about how the rights may not

BRI RS S S protect the suspect because the
Q&s 0 :
h\& ks %dr w‘\ SLLSEA S S : police may use reasonable force.
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Example Candidate Response — high, continued Examiner comments
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_‘\w\@rb \-wcus \\f\, ~ '\\rs c\w—x- "Cbéle?aw«m
B SV \sem o\t:u«\c«,.m A A8 N S WO ST
B e+ = Q?\m&\u&\*‘; e ok hﬁeuﬁwq‘ﬁ
R —";“\uq_; o \We ’\{\T\U e @ @ Overall, the candidate attempts

to evaluate rather than just repeat
the rights.
Mark for (b) = 13 out of 15

Mark for AO2 = 6 out of 8
Mark for AO3 =7 out of 7

Total mark awarded =
22 out of 25

How the candidate could improve their answer

¢ (@) The candidate could have considered more rights, such as time limits and maybe some detail about searches
and the recording of interviews but this was not necessary as they had considered a reasonable range of rights
with a good level of detail, showing an excellent knowledge of detention rights.

¢ (b) There was a slight imbalance in this answer in favour of how the detention rights do protect the suspect, but
there was less detail on how they may not have protected the suspect and left the suspect vulnerable. Such points
could have included the delay that sometimes comes with waiting for a duty solicitor. Research also shows that
some custody records are falsified and that there are still some examples of miscarriages of justice because of
police corruption. Candidates could have explored these further. There were also some missed opportunities for
case law here, where candidates could have given examples of where, for example, the police have delayed a

suspect having a phone call or legal advice, or cases where the suspect was denied his right to an appropriate
adult.
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Example Candidate Response — middle Examiner comments
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0 Overall, this answer provides
some good use of legal authority,
but these cases are not developed
with an explanation of how these
cases show whether the detention
rights protect the suspect (or
otherwise).

e The candidate correctly
identifies R v Samuel here, but it
is not clear how this case shows
the suspect’s rights are protected,
though it is implied where the
candidate mentions the quashed
conviction. This AO2 development
needs to be more explicit and a
good technique for this is to repeat
the wording of the question.

o R v Grant is cited in a similar
vein with no further conclusion other
than the conviction was quashed.

39




Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

poneusabn WA Rar oty a%m '
vebhuthoe o IR tevwichon AV e
anohed B
0 A - § Re
e, *\V)\yﬁc)\’ o e A oA o) by
_e \!G\mm ond noe  ddsud” vakCe, This is just a repetition of the
' {tead . o\md AONN YOS YA readon: rights stated in (a) and does not
. _ develop into an AO2 point, and
Al B | o K g Suovecle R whilst credited as an implicit AO3
=T M, -t} e % b geg\ S e point, it is not convincing.
18,3 n mc?l av ‘cz\, , Sy e wtha_aweiked
Mg WAy s \h@u A o o |
P2 i O(du,L" aeofds s R
\M/\AC/\A o n o<t e, con® N N
L v ngmou\} NG WE ewoPed”  an
\o)\/\«\%?w ou\Qv hod @MHQ_CP 40 e
W\W\e‘ ! \AS‘S‘\(VL@{JJV O M\L}/{}‘ ‘ k&@LOUCd 0.
aip) oI CON cia L?va:? a, uashed. -
s W Vedididiiad  dnes Yol
. M W&W Il oA WOA
QLM VDAL = O\Mbv) vald  \hew  we
| ppice kR inau e Q{‘) { ok
ot A cefeu- MDQUJ/ O\M} %««L’
NYWOM a, WAL At - e Ewr
oo 4 oG abter M ppuat an
}. ,mg\:,ﬁ A o2k S 7. adter \% 6 Good use of supporting
ASAdA - \ statistics here.
xS alyo et mwm‘)i)ﬂ& v e This is a good point because
ouSE aus P2} < Ao @WL Sre s the candidate has discussed why it
: N o
s D suoge ot rm | | Mot et chcks o
- = -~ R .
gﬂ Q i‘cu,ajp -\ We, N f 'M?MMOQ Mark for (a) = 7 out of 10
o VA don®
Mark for AO1 =7 out of 10

40




Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments
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o The candidate correctly
identifies the Police and Criminal
Evidence Act 1984 as the relevant
Act.

e There is some reference to the
detention environment here, though
it could benefit from a little more
detail on what this means and what
the suspect is entitled to.

0 This is an inaccurate point as

it is lawful to detain an individual
before charge, so long as the police
adhere to the custody time limits.

@ correct identification of the right
to an appropriate adult here, along
with a supporting case which is
creditworthy and there is also some
development as to when these
rights could be delayed.
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Example Candidate Response — middle, continued Examiner comments
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0 There is citation of R v Samuel
which is also accurate, but it

is not clear that the candidate
understands the context of this
case.

@ Overall, there is good
discussion of a small range of
detention rights, which is ‘not
detailed in all areas’.

Mark for (b) = 8 out of 15

Mark for AO2 = 4 out of 8
Mark for AO3 = 4 out of 7

Total mark awarded =
15 out of 25

How the candidate could improve their answer

* (a) The candidate could have addressed the question, by repeating back the wording to show how the points that
are being made answer the question posed. Overall, the discussion of some impact of rights not being granted
with case law showed this candidate to have ‘some reasoned analysis and evaluation’, but because of the partial
development and focus on how these points address the question, the candidate achieved Band 2.

* (b) The candidate needed to discuss a wider range of detention rights or provide more detail on the ones that they
did include. This could have come in the form of section numbers from the Police and Criminal Evidence Act 1984

or case law, or simply further explanation.
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Example Candidate Responses — Paper 1

Examiner comments

a It is good practice to write out
an acronym in full the first time it is
used.

e The candidate mentions stop
and search and arrest which,
although correct in places, is not
relevant to the question and is not
credited.

0 This whole paragraph is not
relevant to the question and is
confused with stop and search.
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Example Candidate Response —

low, continued
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Examiner comments

a This is the first point at which
the candidate focuses on the
question, where the environment in
which a suspect should be kept is
discussed. This is brief and lacks
detail.

e This is a good point but needs
to be supported with legal authority;
ideally Section 58 Police and
Criminal Evidence Act 1984.

e Overall, only two detention
rights have been mentioned with
very little detail or legal authority to
support.

Mark for (a) = 4 out of 10

Mark for AO1 =4 out of 10
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Example Candidate Response — low, continued
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Example Candidate Responses — Paper 1

Examiner comments

o As with part (a), this lacks focus
and there is too much emphasis on
other, irrelevant elements of police
powers.

@ Aithough the candidate talks
about detention rights here, it is
not in an evaluative way and is a
repeat of what has already been
stated in (a). To be credited with
AO2 and AO3 marks, the content
needs to be evaluative.

45



Example Candidate Responses — Paper 1

Example Candidate Response — low, continued Examiner comments
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Total mark awarded =
7 out of 25

How the candidate could improve their answer

¢ (a) The candidate did not need to spend time writing about irrelevant content, such as, stop and search and arrest.
The candidate would have been better placed to remain focused on the question.

¢ (b) Although it was necessary to repeat the detention rights, this needed to be done with the aim of evaluating why
or why not they protected the suspect. Ideally, this should be done from both perspectives, making good use of
connectives.

Common mistakes and guidance

* (a) To access the higher mark bands, candidates needed to discuss a range of detention rights with legal authority.
Often, candidates write about other, irrelevant police powers such as stop and search and arrest. It is important
that candidates focus on the specific nature of the question.

* (b) Some candidates just repeated the rights of the suspect that they had already explained in (a) with no further
development or evaluation, or case law to illustrate how these rights may not protect the suspect.

46



Example Candidate Responses — Paper 1

Question 8

Example Candidate Response — high

Examiner comments
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G This is a good introduction
which provides a definition of who
the inferior judges are. This helps
focus the candidate for the rest of
the answer.

e This is certainly true that judges
are chosen on merit, but some legal
authority would benefit here — such
as citation of the Constitutional
Reform Act 2005, or the Judicial
Appointments Commission.

This is an excellent point and
good practice to explain what the
appointment process for judges was
previously — but previous to what?
This is not made clear.

o It is the Judicial Appointments
Commission, not Committee and
this is an important term for this
question so candidates should get
it right.
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments
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e Increasing diversity is a key
advantage of the process, and the
candidate does this well as an AO3
point. To further develop this, the
candidate could offer statistics, or
some insight into why it is important
we have improved diversity and

for what reasons the ‘new’ process
improves diversity.

o The candidate raises another
salient point here about the political
involvement no longer being an
issue. This is developed well for the
AO2 and AQO3 points to be credited.

e A good point about the
selection process being fair
because of the way judges are
interviewed and selected ensures it
is on merit and not favouritism.
Mark for (b) = 10 out of 15
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Example Candidate Response — high, continued Examiner comments
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Mark for AO2 = 5 out of 8
Mark for AO3 = 5 out of 7

Total mark awarded =
17 out of 25

How the candidate could improve their answer

¢ (a) The candidate had a ‘mostly accurate’ knowledge and understanding, which ‘may not be detailed’ — the lack
of detail here was in the omission of key legal concepts and terminology. The correct citation of the Judicial
Appointments Commission and the inclusion of the Constitutional Reform Act 2005, which would have added a lot
of value to this answer and been overall a more convincing response.

¢ OQverall, this was a logical discussion of the key advantages of the judicial appointments process and was
structured in a fluent and coherent way. There was a real attempt to address the question and a little more
development would have put this in the top band for both AO2 and AO3.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

0 This is a concise answer
which addresses the selection

and appointment of judges by the
Judicial Appointments Commission,
though incorrect terminology has
been used — Committee has been
used instead of Commission.

e Overall, this answer has

‘some accuracy, but lacks detail in
relevant areas’ and there is ‘some
knowledge and understanding’.
This means that there is not enough
detail to warrant more than half
marks.

Mark for (a) = 5 out of 10

Mark for AO1 =5 out of 10

o There is reference here to the
argument about merit and that the
selection process ensures only

the most appropriate judges are
selected. This is the only evaluative
point that the candidate makes.

0 This is repetition and the
candidate would have been better
advised to use their examination
time to provide further evaluation
points.

Mark for (b) = 6 out of 15

Mark for AO2 = 3 out of 8
Mark for AO3 = 3 out of 7

Total mark awarded =
11 out of 25
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How the candidate could improve their answer

* (a) There was a lack of detail about the process of judicial appointment prior to 2005. This was needed to
demonstrate how the process has evolved into its current state.

¢ (b) A wider range of evaluation points was needed. The merit argument was the only evaluation point put forward
by the candidate. There were other points that could have been explored, such as the increased diversity, the lack
of political influence with the process and the wider selection criteria which enables solicitors to now apply to the
judiciary.

52



Example Candidate Response — low

Example Candidate Responses — Paper 1

Examiner comments

0 The candidate makes a good

. | start here where they write about
| the appointments process prior to

2005 and the involvement of the
Lord Chancellor and the problems

- | with that.

: o The candidate goes on to write
- | about the process now and correctly
. | identifies the Judicial Appointments

Commission as the relevant body.

. | Mark for (a) =4 out of 10

"7 | Mark for AO1 = 4 out of 10
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Example Candidate Response — low, continued
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Examiner comments

o There is reference to a ‘high
standard of skills’ here but no
development of what this means or
how the selection process makes
this an advantage. There is no
direct link to the question.
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Example Candidate Response — low, continued

Example Candidate Responses — Paper 1

Examiner comments

o This is inaccurate, as
Magistrates are laypeople and are
not equivalent to judges.

@ The point about statutory
interpretation is not creditable and is
disregarded by the examiner.

Mark for (b) = 2 out of 15

Mark for AO2 = 1 out of 8
Mark for AO3 =1 out of 7

Total mark awarded =
6 out of 25
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How the candidate could improve their answer

* (a) Overall, there was a lack of detail on the selection process and the qualities required to become an inferior
judge.

¢ (b) Overall, this was a brief answer with very ‘limited’ evaluation. To access the higher bands, candidates needed a
wide range of evaluative points. The answer should have focused on the advantages of the judicial appointments

process, rather than irrelevant aspects such as superior judges, or as was the case in this question, statutory
interpretation.

Common mistakes and guidance

¢ This is often the last question to be answered on the paper and did result in some candidates running out of time.
It is important that candidates split their time between the questions so that they can give their best to all questions
equally.

* Very few candidates made reference to the Constitutional Reform Act 2005 and many cited incorrect terminologies

in terms of the name of the Commission. This is a crucial mistake and demonstrates an unconvincing application
and evaluation.
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